Beziehungolv* und relative Buntheit c*,« oder Buntheit a* 5+, b* o«

LG43_LECD display_1 0%_Fadin

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hay (26, 92, 162, 217, 272,339)|

C*gpyr=max (0lv*) — min (olv*)
n*=1 - max plv*)= 1 -i*

b*olv+  w=min (olv*)= 1 —d*

t* opr=W* + 0,5C% g0

o+ =C*or €OS hyp
b* i+ =C* i+ SiN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c*,« oder Buntheit a* 5+, b* o«
LG43_LECD display_1 0%_Fadit C*gye=max (olv*) - min (olv*)

n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap, 126, 92, 162, 217, 272,339 Popr=W* +0,5¢* gy

o+ =C*or €OS hyp
b* i+ =C* i+ SiN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* oy«

LG43_LECD display_1 0,6%_Fadin

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap (26, 92, 162, 217, 272,389

C*gpyr=max (0lv*) — min (olv*)
n*=1 - max plv*)= 1 -i*

b*olv+  w=min (olv*)= 1 —d*

t* opr=W* + 0,5C% g0

o+ =C*or €OS hyp
b* i+ =C* i+ SiN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* oy«
LG43_LECD display_1 0,6%_Fadit C*gye=max (olv*) - min (olv*)

n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap 126, 92, 162, 217, 272,339 Popr=W* +0,5¢* gy

o+ =C*or €OS hyp
b* i+ =C* i+ SiN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit ¢* )« oder Buntheit a* 5+, b* oy«

LG43_LECD display_1 1,2%_Fadin

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap (26, 92, 162, 217, 272,,38%)

C*gpyr=max (0lv*) — min (olv*)
n*=1 - max plv*)= 1 -i*

b*olv+  w=min (olv*)= 1 —d*

t* opr=W* + 0,5C% g0

Ao+ =C*or €OS
b* i+ =C* i+ SiN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit ¢* )« oder Buntheit a* 5+, b* oy«
LG43_LECD display_1 1,2%_Fadit C*gye=max (olv*) - min (olv*)

n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap 126, 92, 162, 217, 272,339 Popr=W* +0,5¢* gy

o+ =C*olyr €OS hyp
b* i+ =C* i+ SiN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c*,« oder Buntheit a* 5+, b* o«

LG43_LECD display_1 2,5%_Fadin

CIELAB-Bunttonwinkel:
hap,¢=[38, 96, 151, 236, 305, 354]
hap 126, 92, 162, 217, 272:338)._

C*gpyr=max (0lv*) — min (olv*)
n*=1 - max plv*)= 1 -i*

b*olv+  w=min (olv*)= 1 —d*

t* opr=W* + 0,5C% g0

%o+ =C*olyr €OS hyp
b* i+ =C* i+ SiN gy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c*,« oder Buntheit a* 5+, b* o«
LG43_LECD display_1 2,5%_Fadit C*gye=max (olv*) - min (olv*)

n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hay 126, 92, 162, 217, 272,338) Popr=W* +0,5¢* gy

%o+ =C*oly+ €OS hyp
b* i+ =C* i+ SiN gy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* oy«

LG43_LECD display_1 5%_Fadin

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305, 354]
hap 126, 92, 162, 217, 272%L

C*gpyr=max (0lv*) — min (olv*)
n*=1 - max plv*)= 1 -i*

b*olv+  w=min (olv*)= 1 —d*

t* opr=W* + 0,5C% g0

o+ =C*or €OS hyp
b* i+ =C* i+ SiN gy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* oy«

LG43_LECD display_1 5%_Fadit

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305, 354]
hap 126, 92, 162, 217, 272%L

C*gpyr=max (0lv*) — min (olv*)
n*=1 - max plv*)= 1 -i*

b*olv+  w=min (olv*)= 1 —d*

t* opr=W* + 0,5C% g0

o+ =C*or €OS hyp
b* i+ =C* i+ SiN gy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c*,« oder Buntheit a* 5+, b* oy«

LG43_LECD display_1 10%_Fadin

CIELAB-Bunttonwinkel:
hap,=[38, 96, 151, 236, 305, 354]
hap 126, 92, 162, 217, 272%

b* gy

C*gpyr=max (0lv*) — min (olv*)
n*=1 - max plv*)= 1 -i*
w*=min (olv*)= 1 —d*

oy =W* + 0,50k e

o+ =C*or €OS hyp
0o+ =Coly+ SN My

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c*,« oder Buntheit a* 5+, b* oy«
LG43_LECD display_1 10%_Fadit C*gye=max (olv*) - min (olv*)

n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
han (26, 92, 162, 217, 272,339 Popr=W* +0,5¢* gy

o+ =C*or €OS hyp
g+ =Coly+ SN My

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«
LG43_LECD display_1 20%_Fadin C*gye=max (olv*) - min (olv*)

n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap, (26, 92, 162, 217, 272,329] Popr=W* +0,5¢* gy

o+ =C*or €OS hyp
b* g+ =C* i+ SIN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«
LG43_LECD display_1 20%_Fadit C*gye=max (olv*) - min (olv*)

n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap, (26, 92, 162, 217, 272,329 Popr=W* +0,5¢* gy

o+ =C*or €OS hyp
b* g+ =C* i+ SiN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit ¢* )« oder Buntheit a* 5+, b* oy«
LG43_LECD display_1 40%_Fadin C*gye=max (olv*) - min (olv*)

n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap,[26, 92, 162, 217, 27\%0%21?] Popr=W* +0,5¢* gy

o+ =C*or €OS hyp
b* i+ =C* i+ SiN gy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit ¢* )« oder Buntheit a* 5+, b* oy«
LG43_LECD display_1 40%_Fadit C*gye=max (olv*) - min (olv*)

n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

CIELAB-Bunttonwinkel:
hap, =[38, 96, 151, 236, 305, 354]
hap,[26, 92, 162, 217, 27\30%215.;] Popr=W* +0,5¢* gy

o+ =C*or €OS hyp
b* i+ =C* i+ SiN gy

relative Buntheit
a*ojyx




